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UeT 1  3MV] WRA-Y Ufgel UTHU FgUM 3N%@el STUIR WiH YfST UIed A9 1904 Hed Wicarddh! Hivredn
SRS #TSet.
W[ 1) RGBS 2) AT 3)ar 4) sTeeH

Which of the following scientists introduced the Plum Pudding Model in 1904
known as the first atomic Structure Model.

1) Rutherford 2) Thomson 3) Bohr 4) Dalton
T 2 & dATIH gUMOI ... °F
g 1)100 2) 23 3) 296 4)72
Room Temperature Means............. °F
1)100 2)23 3) 296 4)72
ueq 3 3, fR. &Y., eferm I Hfame safdvarard) v yerRe aaiafeT wifes araxdrd ?
i 1) dharse 2) HeHTSH 3) Ui 4) giefigwex
C?bine}?s of Radio, T. V., Telephones are made up from which type of thermosetting
Plastic*
1) Bakelite 2) Melamine 3) Polyurethane 4) Polyester
UeT 4 ERIGISH IT egeard 3frsea Pivrd ?
1) TRAGIST VT hgahId =g STl
2) G STV hgdhid ~gg I .

3) SIS dhgehld Ueha! Wil Avidl.

4) EIZISTTEAT hgprHiad! TRYHUT HRUIR S Seider SRIT.

What s the Characteristics of the hydrogen element?

1) ANeutronis presentin nucleus

2) No Neutron in the nucleus

3) No Protonin the nucleus

4) Around The Nucleus of Hydrogen there are two circulating electrons.

U5 U Hier ugref FgurSt fahedt Yoy ?
1) 6.022 x 10” 2)6.022 x 107 3) 6.022 x 10™ 4) 6.022 x 10"

1Mole ofMatEgris equal to how many molecules. b "
1) 6.022x10 2)6.022x10 3)6.022x10 4)6.022x 10

YT 6 SR MoohTdT THR PIal ATt HHI BIdl, BRI T

1) grediyas g 2) FgE g 3) Niteras g 4) I PIUTAE AATEL.
The Size of naphthalene balls decreases slightly after afew day's because...

1) Evaparation Process 2) Condeusation Process

3) Sublimation Process 4) None of these

U9 7 34 FEUS hIT ?

1) 91/ &Thd 2) &%hes /del 3) ge1 /gl 4) g1/

Whatis the pressure?

1) Force/Area 2) ArealForce 3)Force/Density  4) Density/Force
7o 8 Yl HIvr faem= aR1eR 3R,

1) O HTHEN T BT UIE 3. 2) W AYTIAEN T~ T JOTLH IRl

(02-16) W@H T TR A AT ISATA TR..... TR T I IRAATT o raTer qui BT ard Sgd g ATer.



3) WYY, JTUTGHE Tl 81 TUIEH SIRIcl.  4) PHIET STUTIHEN T &1 [UIe 1Tl

Which of the following statement is correct.

1) All metal are ductile 2) All non-metals are ductile
3) Generally, metals are ductile 4) Some non-metals are ductile
A9 ST 1Y g I fAsior 3
1)Co+N, 2)Co+H, 3)Co+Co, 4)Co+N,+H,
Water gas is a mixture of
1)Co+N, 2)Co+H, 3)Co +Co, 4)Co+N,+H,
ed
e 10C,,H,, 0, W 12C+11H,0
2 4
a1 AATHAIRET @reiter 3 ST fAdet ?
1) 9o}, BT 2) ATER, BT 3) BIH 4) ATGHS, DiesHl
gd
C.,H,,0, —>st04 12C+11H,0
Which of the following is Obtained in the above reaction.
1) Water, Charcoal 2)Sugar, Charcoal 3)Coke 4) Wood, Charcoal
"9 11 fa=aman sruaciHie faeft s ?
gy 1) 1.42 2)2.42 3)2 4)1
Refractive index of diamondiis...
1)1.42 2)2.42 3)2 4)1
U9 12 HUMERITeAT SO YT A iferes I8 HRT HIvT ?
Iy 1) SIEIMTT 2) syt 3) 313 | 4) S YT
The hottest zone in the candle flame is the.
1) Non-Luminous zone 2) Luminous Zone
3) Invisible zone 4) All Zones are equally hot
W9 13 Mg ¥ Solae 9 BT § 318
wig 1) (2,7) 2)(2,8,1) 3)(2,8,2) 4)(2,8,8,2)
The Electronic Configuration of Mg is.................
1)(2,7) 2)(2,8,1) 3)(2,8,2) 4)(2,8,8,2)
U9 14 914, §151 3701 ST+ RiedR gt fovg! /e TS STRAUTRT YTe] I ?
g 1) Mg 2) Zn 3)Cu 4) Al
The Metal which is presentin brass, bronze and German Silver is...
1) Mg 2)Zn 3)Cu 4) Al
9T 15 QU g GRATA...........c... T UPRTI ISTEVT 3R,
Ity 1) @ 2) |Ei fAsEr 3) fawwirfi fAsor 4) fAeie=
Milk is an example of type of matter called.........
1) Solution 2) Homogeneous Mixture
3) Heterogeneous Mixture 4) Suspension

(03-16) SiegT Tt WEl & ATSHITH T gl rat I SATATT ¥ T, - 1. TSN, steger dem



T2 16 T el QBT Tch Hoodl.

W@ 1) geIsq 2) A1 3) SRR 4) Heforeg
Fine the Odd one out.
1) Newlands 2) Moseley 3) Doberiener 4) Mendeleev
EL I g Sifeehea AT 9 3R,
qgim 1) CnH,,,, 2)CnH, , 3) CnH,, 4) CnH,, ,
............... is the general formula of Alkene....
1)CnH,,,, 2)CnH,, , 3)CnH,, 4)CnH,, ,
99 18 e it yaR siiwar
Fe+CuSo,—~FeSo,+Cu
ygfg 1) dan afdfehar 2) 3rqeaes rfifesar
3) e srf¥fesar 4) et faermam arfirfehan
Identify the type of reaction....
Fe+CuSo,—~FeSo,+Cu
1) Combination Reaction 2) Decomposition Reaction
3) Displacement 4) Double decomposition Reaction
79 19 ATATEARUIT IS Y@bIe HUT, TRATRUI, 4R, &R 3. AT THHAAYL............... FEUTT.
g 1) 3 2) RAeq 3) FARI FARI B 4) a7

Atmosphere Cantains dust Particuler, Pollen grains, smoke salt grains....... etc..
which are collectively known as.
1) Ozone 2) Aerosols 3)CFC 4) Water Vapour

U2 20 WIH AU DIV Gefdh JTFALFT STavT ST SSTRIA STavr Treareiel TR ey STahd ATal!
g 1) fhAree 2) fercuq HrIe 3) fafdre st 4) fafdre s

Which of the following indicators cannot differentiate between a neutral Solution
and an acidic Solution
1) Phenolphthalein 2) Litmus Paper 3) Methyl orange  4) Methyl red

e 21 EI AN fAsTe R @refterddh! ot fIawoft amg

i 1) Re 2) 4% 3) o 4) e
National Institute of Virology is located at which of the following place?
1) Delhi 2) Mumbai 3) Pune 4) Benguluru

719 22 TIgHTe STHIIGT T SedTfed STelet aToT DIV ?

g 1) wE.uE. A 2) Meed A 3) qrRIa 4) ggrgoft
Which of the following is the New Variety of Genetically Modified rice?
1) HMT 2) Goldenrice 3) Basmati 4) Indrayani

U9 23 HRCIRI RIS ST1eh FgULA HIVITH JAsEet STt ?
g 1) 3. UH. U9, W@ 2) S1. AT IR
3) &1, Fft R 4) 1. SrTfesrig a9

(04-16) WidleR TciedT gaften widl gevardt Wit T HRU rer HidaR fAeaRT T MU TETeR f3ear .



Who is known as Father of Green Revolutionin India?
1) Dr. M. S. Swaminathan 2) Dr.Norman Borlog
3) Dr. Vargis Courian 4) Dr. Jagdishchandra Bose

U9 24 ATE! THTET AR (PH) ......... A,

g 1)7 2)6.5 3)7.4 4)5.5
The PHof HumanBloodis ....cccceevienennee..
1)7 2)6.5 3)7.4 4)5.5

e 25 Wleltel GEASIIEAT - AT R TERiTe DT Hedh T,

gty 1) 2) A= 3) grIgT 4) AHINA
Selectthe Odd one out of the basis of number of Germ Layers
1) Taenic 2) Nereis 3)Hydra 4) Ascaris
U9 26 HTTdT IRRTcHet wate At weft prordt ?
g 1) agd Uit 2) deiaes Il 3) wWigfus 4) SR
Which s the Largest gland in the human body?
1) Liver gland 2)Salivarygland  3) Pancreas 4) Stomach
T 27 Wietlerdeh Ufastfas HIvr ammg ?
wig 1) @ifsaw aReEEe 2) afAafifes 3) 3redIgle 4) Rz
The following is an Antibiotic.....
1) Sodium bicarbonate 2) Penicillin
3)Alcohol 4) Yeast
U9 28 HellRAT SIvATRITS HIRUNTY SRTctel Hofia.
gaftg 1) fammog 2) qReft 3) anfesha 4) gessiig
Malariais caused by a
1) Virus 2) Fungus 3) Protozoan 4) Bacteria
U9 29 Riuep! srigter wemeft Waftra g ?
gt 1) gariae 2) T Udhed 3) uoft sote 4) T ISt
Chipko Movementis concerned with
1) Plant Conservation 2) Project Tiger
3) Animal breeding 4) Plant breeding
U9 30 YR Ufgel MFR IHARUY HIUI ?

W@ 1) iR R 2) SRR INARTG  3) 5 Pidc JIUIRVT4) HIET IR

The first national park of Indiaiis.................
1) Gir National Park 2) Kaziranga National Partk
3) Jim Corbett National Park 4) Kanha National Park

72 31 Bt Ueft gewry efia IwffAfid g oy wgvrama ?
wafg 1) e 2) gRaca® 3) Hed 4) TIPIfOIEDT

(05-16) ufget 791 FBTTR WY T THT HRU GHAT TAIT SR YL 3Tl T TYUY S Fg0ier i Ufget A9 Haaes AR fAomer are.



Which cell Organelles is known as the "Power house" of the Cell?

1) Lysosomes 2) Chloroplast 3) Nucleus 4) Mitochondria
U2 32 JIATARVITIE ST AT SATTA. ... ST IRUTIREA T fAasa.
I 1) B SRISNFRITSS 2) FARY FARY I
3) QTR fREmerett sifcrfAet fasvor 4) aRerddh ad
The Ozone Layer inour atmosphere protects us from the had effects of
1) Carbon Dioxide 2)CFC
3) The Sun's ultraviolet ray 4) All of these
79 33 UTUIT Y[EIHROITEAT HIVIAT UG IO el YeHSia HRe ATale ?
g 1) Ihoor 2) TS0 3) FAR YT 4) Iefura=
Which Method of water purification does not kill microorganism?
1) Boilling 2) Filtration 3) Chlorination 4) Distillation
U9 34 WTcileTdh PIUTCAT VAT, e {2 T 999+ IaIaTa P el ?
g 1) g 2) I5F 3) emdh 4) &
In which one of the following animals Skin is arespiratory Organ?
1) Cockroach 2)Frog 3) Shark 4) Whale

799 35 AT STAR /AT hIUTd 37T 3 ?

g 1) afes s 2) {3 TV 3) ERITARID A 4) AR T

The Acid in gastric Juiceiis.....

1) Acetic Acid 2) NitricAcid
3) Hydrochloric Acid 4) Sulphuric Acid
5197 36 1984 HEY TSciel! *HIUTS 7w geeT dhemeft Wafd ame.
Wi 1) AgAAsm wienss 2) HTE SASNRATSS
3) fafde sarss 4) fafdre srERe
"Bhopal gas Tragedy" 1984 is related to .......
1) Aluminium phosphide 2) Carbon dioxide
3) Methyl bromide 4) Methyl Isocyanate
U9 37 Waifire Stafafdedr @retlerth HivrT YT e ?
wfg 1) RAvagiaruer 2) gdauey 3) Swimfegfa uer 4)AgNTR
Biodiversity isricherin......
1) Tropical regions 2)Polarregions 3) Temperate regions 4) Oceans
T2 38 WTetteTdehY AT HTUITT I HIVIT ?
wafg 1) g, uroraist, 9feE, aeargs 2) Rig, acarg®, eI, TERFT
3) gTuTENST, Ui, @™, His 4) AT, TSATS, FHITE, TOTHIST

Which of the following set belongs to the class Mammalia?
1) Lion, Hippopotamus, Penguin, bat

2) Lion, bat, Whale, Ostrich

3) Hippopotamus, Penguin, Whale, Kangaroo

4) Whale, Bat, Kangaroo, Hippopotamus

(06-16) =TS Iy FHeftEr o A ATEY. Fer 7 3ifom LT Mg TR UYLT g1 HY HY JUIRT SUYBT 37TE.



U9 39 YTt UGATHR WU GIThRUT FHROUMR SITEAST

wig 1) f@ees 2) ghel 3) ferfAs 4) Piucis
Five-kingdom, classification was given by...
1) Whittakar 2) Haeckel 3)Linneus 4) Copeland
T2 40 T UTHIHEN SIRAUITAT fEReAT TGl Wiefiereh! HIvI JeAged 3R ?
ggfg 1) qaforem 2) BIART 3)dE 4) HfR13m
Which of the following element is present is green pigment of Leaf?
1) Magnesium 2) Phosphorous 3)Iron 4) Calcium
9T 41 ARG S Ns@T
g 1) sREa — &I Uheh
2) 319q9Th! - hI Thep
3) Affedpd e ~ 3IERTA Theh
4) Afeqa™a - IU Uehdh
Which of the following is not matched?
1) Decibel - Unit of sound
2) Horse Power - Unit of power
3) Nautical mile - Unit of distance
4) Celsius - Unit of heat
T 42 4 AHl A 3RAelel rGsTal MaT 7 fadeara Bod=n awst aid Fafa dedia teaas
ST ThTade! ST T SIfAHIER NErdvaTRITS! ARURT AR ... 3.
g 1) g™ ARE™ 2) 3) dAlda URETE  4) 3R

Airon ball & awooden ball of the 4 cmradius are released from the same heightina
vacuum. The time taken by both of these to reach the ground to....
1) Roughlyequal 2)Zero 3) Exactly equal 4) Unequal

U9 43 TANT S QIUATYdT argTedT Hievar 1052 fa . g1 3 BT, 4 A1 AT hedHaR Hievak

It

1212 forHY. g 9 31Tet o= <1 argraT areft WRR) 9 fohed) ?
1) 35Km/h 2) 40 km/h 3) 50 Km/h 4) 60 Km/h

The Odometer of a vehicle displays 1052 km. start of a journey. After 4 hrs. of
journey the odometer displays 1212 km. What will be the average speed during
this journey?

1)35km/h 2) 40 km/h 3) 50 km/h 4) 60 km/h
T 44 foge enda Svarardt 15 fAfSe d arTal. SR ARIGerdT 3 2 mis 3 O] 9@l 9 TR AT

R 3R faheft 2

1) 2.5 Km 2)12.0 Km 3)1.8Km 4) 2.8 Km

It

Piyu takes 15 minutes from his house to reach his school on a bicycle. If the
Bicycle has a speed of 2 m/s. Calculate the distance between his house and the
school.

1)2.5km 2)12.0 km 4)1.8 Km 4)2.8 Km

U9 45 fRATST FBIHEN ATYUT HIVIT T HUYS qTIRe TTfgot ?

It

1) SHTesT A 2) UTeRT T 3) o1l < 4) Iy ATst

(07-16) @Te UTEUMAT fordehe fiwe T Tae SRUM! g faetel 3w, - 1. TS, 3rege He



Which of the following colour cloth should we wear in winter season.

1) Black colour dress 2) White colour dress
3) Red Colour Dress 4) None of these
U9 46 AR I 7gUIA ...
ygtg 1) gifie It 2) IR It 3) dhgfdha I 4) T |
Solar energy is also an example of.........
1) Mechanical Energy 2) Chemical Energy
3) Nuclear Energy 4) All of the above

e 47 fOET AT Uie=IT FTE HeHh19T STATRT NCATIR STl BT FHTUITC Gshiva I e g ?

g 1) e 2) AT 3) digsT 4) STYST
When white light passes through a prism, the colour which bends least is
1) Indigo 2)Red 3) Orange 4) Violet

T2 48 faRTE BT IIRIIAR IHT 31TR. faRTe 9 = 3rRemeiter ufcmm I 3R 10 Hiex 3mg SR ar 2 #iex
IR ARBAT O AT ufedr g ot gimeier 3iax fahedl ?
g 1) 10 Hiex 2) 8 fiex 3) 6 Hiex 4) 12 Hiex

Virat is standing in front of a place mirror. The distance between Virat of herimage
is 10 m. If he moves 2 m. towards the mirror. Then the distance between Virat of his

imageis....
1)10m. 2)8m. 3)6m. 4)12m.
TS 49 3MMYT IRRTER EAATSME ... ITET SAPT NI
gty 1) ardrEaReiy 2) AT dBEId  3) SRIBAIA S 4) W g1
The air pressure on our body is equal to................
1) Atmospheric pressure 2) Atsealevel pressure
3) Space level pressure 4) Normal Pressure

W27 50 Ul G aGAM 5 et 3riet oR el aoi fahedt ? (g =9.8 ms™?)

qgfg 1) 98N 2) 49N 3)24.5N 4) g
Mass of abody is 5 kg. What is it's weight ! (g =9.8 m?)
1) 98N 2)49N 3)24.5N 4) Zero
99 51 UTUITHS §ITT G8FST «........c.... BRI .

qfg 1) |ule IRMyEO  2) 3iadsp RmvEmr  3) afds Rimmymmr 4) siqds srRemyETo

Inside water, an air bubble behaves................
1) Like a flat mirror 2)Like aconcave lens
3)like aconvexlens 4) like aconcave mirror

W9 52 Ueh UehILTfhRuT fardear ggHmmeft 50° 9 exal, aR STl ST B ............ 9T 3.
g 1) 50 2) 40 3) 100 4)0

A ray of light makes an angel of 50° with the surface of glass slab. it's angle of
incidence will be......

1) 50 2)40 3)100 4)0
(08-16) frT & e Sitamra @44 ffacdt snfor & wTelt Fi+T SISUIRT ga oM. - SF. T.H.S1. sregel Faid



iy 1)0°C 2) -4°C 3) 100°C 4)4°C
The density of wateris maximumat.......................
1) 0°Ckm 2)-4°C 3)100°C 4)4°C
79 54 TTclel AT Tceh 3ATodT.
wig 1) geeHlex 2) 3rdiex 3) TegTHIeR 4) yuffiex
Find the odd one out
1) Voltmeter 2) Ameter 3) Galvanometer 4) Thermometer

U9 55 YUIT YTt aRtel UTTSUTHA Wietdl ITaestar Usd, I HROL...........

g 1) gaea 2) ToeaTHyor 3) SIfaF=T SaR 4) 9TUTSAT YaTETET o
Water fall falls froms the upper level to the lower level, due to..............
1) Magnetism 2) Gravitation 3) Slope of land 4) Speed of water flow

T 56 WieieT HIVTeAT fEhdHe Jad wr TurerH aervfiaRer Tmae ?
g 1) SUSATER 3T 2) arEsTen Wef hear™
3) SxIfdss Sl gral gal Wrell hapet 4) Iy ATSt

Magnets lose their properties significantly if....................
1) Leftinthe open 2) Touched with iron
3) Propped from a height repeatedly 4) None of these

U9 57 @leileTdh! HIUIT HIETHT == QI A {ereh A ?

g 1) RS 2) gaey 3) argey 4) fafa
In Which Medium Sound travel Fastest?
1) Solid 2) Liquid 3) Gas 4) Vacuum

9 58 Yeter deht vl Troft fiora Walepe ares e ?

Ity 1) e gt 2) Iefureiie groft 3) \HgT™ uToft 4) YTgET gTof
Which of the following is the best conductor of electricity?
1) Tap water 2) Distiled water 3) Seawater 4) Rain Water
U9 59 Ul YR SWIE ............
g 1) e 2) YRR -1 3) amfyg 4) gRic-1t
First Satellite of India
1) Apple 2) Bhaskar-1 3) Aryabhatt 4) Insat-1B
W9 60 3 a1 A PHemeft Fefdra amg ?
wfg 1)y 2) fag varg
3) faega TR 4) faegd vaTe 9 fagd TR A
Ohm's Law defines...........
1) Resistance 2) Currentonly
3) Voltage only 4) Both Current of Voltage

(09-16) 3/ 3T fRrepIdt B S R Qg 3ATRd, T STRTLAT IR I JeAT WEIaR IS aRciiet. — BT, 3Heqel P



Ueq 61 34 HY. et T 18 #t. ot AT IAATH<AT AATAT HIARTT FRUITST 4.50 w4 a).Hiex

TaeT @ I IS TR UHUT @t IeH BIal.
1) 2830 %. 2) 2854 %. 3) 938 %. 4) 2754 %.
Find the cost of cultivating a rectangular field 34 m long and 18 m wide at ¥4.50 per
sq.meter.
1) 7 2830 2) 7 2854 3)2938 4) 7 2754
U7 62 —% T U R SR AL
b -b
1) 2 2) 2 3)~ 4) Y T
The multiplicative inverse of —g iS.veeees
1) 2 2)2 3)=2 4) None of these
b a a
719 63 SR x:2+35+5, TWRL-x1Z o,
1) 2) -8 3)0 4)1
5 5
If, x=2+_3+5, then1-x1isequalto.............
8 8
1) ¢ 2) -2 3)0 4)1
U9 64 Wreftel TP, x = ......
wafs 1) 120° C
2) 140° pg 70
o X
3) 160 »
4)130° A B
Inthe given  Fig, the Value of xis.......
1)120° N
2) 140° pg 7O
X
3) 160°
4)130° A 60Q\ g
U655 RaTAT23% =46, ARaA= .ccvvveverennnnn
1) 150 2) 200 3) 20 4) 300
If 23 % of ais 46, then find a
1) 150 2)200 3) 20 4)300

(10-16) IRIST TEHATH Heh ATAIITS! 1. BIET AN el ST g FATeiel AT, - 31, TR, 3reged ™



739 66 U hH HIUGTATS! 8 HIUKIAT 10 R FRaTd Ok o RuIgIS!T 10 Ao fhdt Raw

ARt ?

1) 12 feaw 2) 8 faaw 3) 7 feaw 4) 6 feaw
8 man can do a piece of workin 10 days, How long will 10 men take?

1) 12 days 2)8days 3) 7 days 4) 6 days

U9 67 Jetel sxorHed A I1Tfor B e fhwelt srgera

2 3 A 1) 15 2) 200
+A 3 B 3) 20 4) 300
6 B 1
The Value of Aand B in the given addition respectively are..............
2 3 A 1)15 2) 200
+ A 3 B 3) 20 4) 300
6 B 1
5197 68 qdieT apetar L PAC =? a P
1) 100 2) 45 20x
< 9 7x >
3) 35° 4)ThEATE B A C
Inthe 0Given Figure,zPA(oI is equal to Q P
1)100 2)45
20x
3) 35° 4)None ofthese < Ox 7 >
B A C

YT 69 SR 6, X, 7, 14 3fOr Y Jiwht WRTART 8 3T R X + Y = faheit

1) 13 2)12 3)10 4) 15
Ifthe mean of 6, X,7,14andY is 8. Thenthe valueof X+Yis..............
1)13 2)12 3)10 4)15

Y 705X 18 -3P=6P+9, TRXP=..............

1)9 2)6 3)3 4)1
If18-3P=8P+9, ThenP=.....c..........
1)9 2)6 3)3 4)1

U9 71 TN AU d @letieTdeh! Ivre faen= sRieR 31me.

1) | A g TR 3T 2) AT Bt (THHBIAT) & JAdTd.
3) IR Ul AH Tehoy AT 4) STICTT ¢ IS AH AT,
Which of the following Statements is true for arectangle?

1) All rectangles are squares 2) It's diagonals are perpendicular
3) It's diagonals are equal 4) All Sides are equal

(11-16) SR T 9% IRATG BT TR I eI aRATG PReA. IS HUIE PUTAIST Aiad TG, - ST T.H.SN. sreqer oA



T3 72 TehT S<hI= T (23T 1880 BUITHT fAehett 3MMfOT 10 % BT HHAT, = A o X3 fheht

BT WG} el BielT ?

1)1782%. 2) 1800 %. 3) 2178 %. 4) @refterteht gt

Aman sold aradio for Rs.1980 with 10% profit. Calculate purchase of radio?

1)T 1782 2)T1800 3)T 2178 4) None of these
T 73 (X+3y)*+ (Xx-3Y)? =eerrereeee

1) 2x*+ 18y’ 2) 2x*-18y’ 3)2x*+18y*-12x>  4)2x*+9y’
U 74SRab=63Mflra+b=5 @ (a’+b’)=?

1)11 2)12 3) 13 4) 16

Ifab=6and a+b =5, Then the value of (a’+b’)="?

1)1 2)12 3)13 4)16
99+ 75 goietd ¥ (Euler's Formulais given by)

1)F+V=E+2 2)F+V+E=-2 3)E-F-V=2 4)F+V+E=2
U9 76 Wict et A g sord ?

1) X§T 2) FHYST AIDI 3) oI, 4) ARA

Which of the following is a 3D Figure?

1)aline 2)rhombus 3)Cone 4) Quadrilateral
T 77 12 At x 9 WY x 8 W+t AT St aaRTHed SRt ST fahctt WHY eridieh afRyet Saan

REC

1) 12 3 2) 17 A 3) 18 %t 4) 19 d+

Calcuate maximum length of a pencil that can be kept in a rectangular box of
dimension12cm x9cmx8cm

1)12cm 2)17cm 3)18cm 4)19cm
9T 78 20, 24,30, 32FATA. AL fA. oo IR,

1) 398 2) 410 3) 450 4) 480

The L.C.M. of 20, 24, 30, 32 would be

1) 398 2)410 3) 450 4) 480

79+ 79 feoicar wrarear fafay fRuham geam Sax .

5 6 GF

1)1 2)2 3)3 4) 4
Then Which number will be opposite to 6 ?

)2 4)4

(12-16) <IH TP HEM 0T 3N S ATIAME Bofaul IR Mg, — ST LS. 3regel Herm



79 80 UeATRFgr=aT SR hIvTelt T ASeT ?

piz (e
3) 22 ‘w

4) 33
Find the missing number

d2 fed
PN

2 81 USH g STSIR PV [ANTUaS gl ?

Aids disease causes dueto...
1) Human immunodeficiency syndrome 2) Human acquired deficiency virus

3) Human immunodeficiency virus 4) Human immunodeficiency vitamin
Y 82 7Y §T TR HIUAT SIS giell ?
1) vfzw sfomt 2) Fgera 3) farett ARG 4) Ty AT
Dengue disease causes due to which mosquito ?
1) Aedes aegypti  2) culax 3) kili markis 4) None of the above
% 83 BCG El o HIdT SRS Reft ot 2
1) &R 2) HrdIS 3) BRI 4) TRBISS
BCG vaccineis used to prevent.....
1) Tuberculosis 2) Hepatitis 3)cholera 4) Typhoid
% 84 ThIETad PIVATE! dErhid TAITSIAT HGHIRITS! IO HHUIETiaeT ANATATRATST I qRea!
SHHID AR HUD ATUTAT ?
1) 100 2) 111 3) 108 4) 105
In any Health emergency and for calling Ambulance which helpline number can
helpyou?
1)100 2)111 3)108 4)1000
U 85 SN IR faT weft aRyat ?
1) 12 SHaRt 2) 7 %hgar 3)7 Uit 8) 28 AlgaR
Which of the following day celebrate as a World health day ?
1) 12 January 2) 7 February 3) 7 april 4) 28 November
Y 86 THI A AT Y& PIUT Mg ?
1) &. forg= 2) 3TR. MLTHT 3) h. fRde=w 4) B}, q2rg
Who s President of ISRO ?
1) K. Sivan 2) R.Radhakrushanan
3) P. Chidambaram 4) P. Mathai

(13-16) L= ARG MG YUATATS! el aroreft gior Ror 3RAel. - T, TS, gt e



T4 87 ST. QUIST 31egel BHelTH AT JATHARAT ATd 1 3Tg ?

1) usaferd 79 2) YRd 2020 3) arfau 4) I

What is the name of Autobiography book of Dr. APJ Abdul Kalam ?

1) IGNITED MINDS 2)INDIA 2020 3) WINGS OF FIRE 4) TRANSCENDENCE
U 88 HIRAM SABILNT WIS Ufell SUIE HIVIT ?

1) amfvg 2) TS 3)TRT 4) It ATEL

What is the name of first satellite of India?

1) Aarybhatt 2) Gagabhatt 3) Apsara 4) None of the above
TH 89 INUTAT hgehld DIV HUT AT ?

1) MeF 2)~ggH 3) uif3re = 4) Iy ATst

Which particles are not present in nucleus of an atom ?

1) Proton. 2) Neutron 3) Positron 4) None of the above
UH 90 THI TEATT PIS 3T ?

1) 3TEveTETS 2) 43 3) u=rg 4) 4w

ISRO's headquarter located at.......

1) Ahmedabad 2) Mumbai 3) Chennai 4) Bengluru
U4 91 WMNLTRIS SId TRBIDR AT STHARATS 71T B 3N ?

1) sraepreneflt STeet AT 2) IR TR 918t fag

3) dare ug ar=ieft 4) e

What is the name of autobiography book of astrophysicist Jayant Naralikar ?

1) Avakashashi Jadale naate

2) My Tale in four cities

3) communication with planets and stars

4) Discovery
U 92 WRAIT STCRTS BHRIHHT ST DIl ?

1) sl. fAFIARMYE  2) Heg=T aradn 3) ST. Jhter &= 4) 3. ISt 3regel el

Who is father of Indian space program ?

1) Dr. Vikram Sarabhai 2) Kalpana Chawala

3) Dr. Satish Dhawan 4) Dr. APJ Abdul Kalam
U193 HRATY Ufgel SIARTBIR DI 3T ?

1) ST. gt W 2) MBS HIRAT 3) RTpeT ot 4) ST AT

Who is thefirstindian to travel space ?
1) Dr. Homi Bhabha 2) Rakesh Maria 3) Rakesh Sharma 4)Kalpana Chawala

(14-16) HRATTE SRRIST ST STl AY THUTT el BT §AT § ITIHH Mg, - 1. UL, fged B



% 94 STiguvercal (GSLV) 7eUet SR ?
Whatis GSLV ?
1) Geosynchronous satellite launch vehicle
2) Geofriendly satellite leading vehicle
3) Geographical safe launch vehicle
4) Geostationary launch vehicle

w3 95 THI s o7 wrvre faeft ATeRT et STt ?

1) 28 thgart 2) 28 T 3) 15 ARt 4) 15 JATaereR
National science day celebrate on the day ...
1) 28 February 2) 28 March 3)15January 4)15 October

T4 96 HRARIT ATdet UTRaTYS fes o= afge SResirer A1d AR
1) 3. . Hor 2) FEITIEEN  3) JhexTd IHFUM  4) HETYT HEl

Who is the first scientist who win Nobel Prize for India

1) C.V.Raman 2) Jagdish Chandra Bose
3) Venkatraman Ramakrishnan 4) Meghnath Saha
Y 97 YAPBIT S AH YATHEY BV gef ITRRIcaTe 3T ?
1) gy g 2) JTHYUT 3) ufryur ga 4) IS g6

Which force exist between same poles of magnet ?
1) Frictional Force 2)Attraction Force 3)RepulsionForce 4) Chemical Force

UH 98 2019 IT N ‘Fider UTRATNS” PIUTAT WRe I G9MTaT ehian fRasTet ?
1) A1 Tit 2) I |+ 3) therrT |eareff 4) eAT TR
Who win the 'Nobel Prize Award'in 2019 ?
1) Abhijeet Banerji 2) Amartya Sen 3) Kailas Satyarthi 4) Ravindranath Tagore

U 99 UefferRam=l S HIvTTert TUrdTa ?

1) jigé g1 2)]iaé gP 3) fraimme qrfd=ht  4) WRba

Who is father of cytology?

1) RobertWadera 2)RobertHook 3) Leonardo Da Vinci 4) SirCrab
¥ 100 IfaciaRufiier vgur Fafife qerged fasdt ?

1) 86 2)118 3)27 4) 92

How many Natural elements in Periodic table?

1) 86 2)118 3)27 4)92

oilddl lidlce! ooid 1™ Udl2i 3030-39

SRR - 39 et 00
JATATS 375 THT MBI 35f : 9 FNRE IR U
wRien - § fSaR 020 fAwpra- 4 IHart 2029
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N&BEL

Scientific Summer Camp

MISSION 2020 ~gese

April-2020 Last Week - 3 days
Guidance from Enpents of Science & “leclinology

Emphasis on :

ISRO SCientitS 1) How to prepare for ISRO

Entrance Exam?

"T As irants ) IIT Entrance prepartion from 8th
Guidance by P std. o
Career EXpertS 3) How to select career?

4) Careers in Science stream.

AUthOI’S 5) How to study for school level

competitive examinations.

Register your name @ 9423 44 2053 7218 50 1444
SIGIT UTetel AR year

Course
NOBEL 11

FOUNDATION scIE“cE

PhysicsIChemistryl Maths | Biology

CBSE & State Board

1" Expert's Batch
from 15th April & 1st May

Vishal Patil (Director)
Near IMR College, Khwajamiya-Highway Road, Jalgaon.
Contact : 94234 42053, 72185 01444

www.nobelfoundation.co.in

n nobelfoundationjalgaon
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